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TiER (B4I © mm)
B & EE FEAR
#z)| a b (ke) |(m7f@)
450 300 | 450 | 417 | 0273
500 350 | 500 | 430 | 0317
550 -| 400 | 550 | 450 |0.361
AR-BEITORHRD HTER

% B H
1:03 766
1:04 742
1:05 715
~HiER (BT < mm)
w3 Stk ZEE AR
@#z)| a b | (ke) |(miY/{@E)
450 360 | 450 263 [0.114
500 410 | 500 | 274 [0.134
550 -| 460 550 310 | 0.158
TiE&E (BE4I : mm)
k] SF ik EE AR
x| a b (kg) |(mY{@)
450 300 | 450 | 214 | 0.135
500 350 | 500 | 220 |0.157
550 -| 400 | 550 | 225 |0.179
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1:03 383
1:04 371
1:05 357
TiEER (BT : mm)
ko] & ZE R AR
#z)| a b (kg) |(m¥/{@)
450 360 | 450 126 | 0.060
500 410 | 500 132 | 0.070
550 - 460 | 550 | 135 | 0.080
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TiE&R (BT : mm, kg, m¥Z)
is 5 B L=2500 L=1875 L=1250
# zZ 5 B a b PEER A & PEER iRA & BEER RAR
1:03 250 600 460 0.184 345 0.138 230 0092
450 1:04 205 600 428 0170 321 0.128 214 0.085
1:05 163 600 396 0.158 297 0.119 198 0079
1:03 250 650 476 0.208 357 0.156 238 0.104
500 1:04 201 650 440 0.191 330 0.143 220 0.096
1:05 154 650 444 0.158 333 0.119 222 0079
1:03 250 700 548 0.208 411 0.156 274 0.104
550 1:04 196 700 496 0191 372 0.143 248 0.096
1:05 146 700 488 0.158 366 0.119 244 0079
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